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Math 10 Honors Section 4.8 Long Division:

1. Divide and find the quotient. Write the division statement for each of the following:

X =3x+5

0 X =5x? +10x—15

X +13x7 +39x+20
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9x’ -5
3x+2

x+1

Divide: 8x° —6x* +2x—5 by 4x* —x—1
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Divide: 3%' —6x" +9x” —5x+8 by x’ +x-3

Ix" = Ix 4+ 2/

Sx o ix 2
Xy x- §M (X +7>< " 5x+8

+3>< fo

B +(8K —5x+?¥
g - IX X
-z
T TE o]

WJrﬂx—% ‘
- =8

——

Divide: 10x" +8x" =9x* + 7x -3 by x* +x-3
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2. Determine the value of “k” such that when 2x° +9x> + kx —15 is divided by X+ 5, the remainder is 0.
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3. When 2x’ +x—7 is divided by ax+ b, the quotientis 2x+ 5 and the remainder is 3. What are the values

of I’-‘aﬂ and -‘fbh?
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IS avigea py dx + 0, tne quotient is £LX + 2 anaine remainaer i1s 3. vwnat are tne vaiues
of “a” and “b"?
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4TF ax® + bx +1 is divided by 2x—3, the remainder is 0. What is the value of §a+2§)?'
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5. Given the expression: 2x° —3x” —8x —3, which of the following will give a remainder of 0 when divided by
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6. When x° —3x+k is divided by x —k , the remainder is “k”. Find all the possible the value(s) of “k”.
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7. Divide and find the quotient for each of the following. Then factor the quotient.
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8. Giventhat x’ —x’ —24x—-36= (x—i— 3)(xﬁ)(x+ B) . What are the values of “A” and “B"?
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9. Giventhat 6x" —11x’ —4x+4 =(x—2)(2x+ A4)(3x+B). What are the values of “A” and “B"?
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10. When the dividendm divided b\.rg:r2 —-x-2 jthe remainder is 15x+ 2. Find the values of
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11. When the dividend ax’ + bx”> —53x—8 is divided by x> —5x — 6, the remainder is 48x —86 . Find the
values of “a” and “b".
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